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3aanava 1

ORCle

Tak kak 0 < a < 1, To BbIHEeceM 3a cKolKy cTeneHb ¢ HaAHO0JIb-
MM NoKa3aTeleM.
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PewnTte ypaBHeHUA:
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PewnTte ypaBHeHUA:

5) 0.5 1y 1 g
)0, B z +22x—l-

x+l1 x—2 x—1
NERTREE
5 5 3

3x
7)0,125" + 0,25 2 +0,53 = 44

34—x

2-x -
80,37 - E-S_;- =(0,1




3agaya 2

29x+~9 . 37x+3. 56:: = 720t+3.

Paznosknm 720 HA NPOCTbiE MHOKHTEH:

o3 720=24+3*- 5, Torna
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OrseT: 0,6.



PewuTte ypaBHEeHUA:

l) 32.r+3.33x+|_’625x+2=6wt+7
2) 316+x,.44+x.53«x=5408-x 1
3)25x+18. 34x+ll .73.r+4=504x';x 5
4) 38x+!2‘4?x+10,252r+3=360 +95

5) 510.7x+6_4x+74=7004-x

6) 3.t+l . 4.1'-] . 531—5'= 5403--1'
7) 52:1-5.92—.1'.64.;'-?;[ = 4x+ )
8) 4S—x . 37—41’ _492}31( =5042X+3



